Exercise CH3 240 Chem

e What is the [IUPAC name for the followmg compound‘7
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e Rank the following compounds in order of increasing boiling point.
Hex-1-ene, 2-Methylpent-1-ene, 2,3-Dimethyl but-2-ene, Pent-1-ene
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~e  Classify each diene? (cumulated. , conjugated. , isolated)
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2,3-pentadiene
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Exercise CH3 240 Chem

e Which compounds can exist as geometric isomers? QL
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e What is the product of W following reactions?
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e How can synthesis Oct-2-ene from 2-Chloroctane? /
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e Drawa stepW1se mechanism for th1s reaction? fj ri x/
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e Explain why the addition of H>O to alkenes A forming addition products B?
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e Give the structure corresponding to each name. [ C.\e\‘ 7 C/\Q\'Z—C /7
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e Explain why the following name is incorrect and give the correct [UPAC name.
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4-isobutyl-2-methylcyclohexene
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— (E)-1-isopropyl-1-butene



